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All Candidates' performance across questions

Question Title N Mean Max Mark Attempt % |
la 20378 1.7 0.6 2 86.6 99

| 1c [ 20185 | 14 | o7 [ 2 | 713 | 98 |
3 [ 2039 | o6 | o5 [ 1 | 592 | 988 |
| ab [ 20506 | o9 | o4 [ 1 | 87 | 997 |
5 [ 1om01 | 11 ] o9 [ 2 | ss1 | 932 |
| 6b [ 20203 | 11 | 1 [ 2 | 526 | 985 |
b [ 1787 | o2 | o6 [ 2 | 115 | 866 |
8 [ 19942 | 1 ]| o9 [ 3 | 318 | 968 |
| 10a [ 2006 | 15 | o8 [ 2 | 769 | 973 |

| toc [ 19662 | 02 [ 06 | 2 | 94 | 955 |
| 132 [ 1995 | 02 [ o4 | 1 | 165 | 969 |
| 13c [ 19843 | o1 [ 03 | 1 | 122 | 964 |
15 1084 | 1 [ o9 | 3 | 328 | 937 |
| 16b | 1868 | 09 [ 08 | 2 | 457 | 887 |
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Question

Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Diagram not drawn to scale

(a) Calculate the value of x. [41
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(a) Calculate the value of x.

Diagram not drawn to scale
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Diagram not drawn to scale

(a) Calculate the value of x.
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7(a).

X+ 2x + 3x + 90 = 360

6x = 270
x =270
6

or equivalent.

AN

M1

Al
Al

Al

Allow M1 for attempting sum of a + b + ¢ + 90 with
ratio a:b:c = 1:2:3 and clearly using trial and
improvement to aim for a total of 360.

F.T. from ax = b.

Allow SC2 for an answer of 15 (from ‘= 180’)
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B
Diagram not drawn to scale @

(a) Calculate the value of x. [41




Sticky Note

Correct method. Final mark lost due to poor numerical skill.










Diagram not drawn to scale

(a) Calculate the value of x. [4]
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Sticky Note

Correct answer but poor algebraic presentation.










Diagram not drawn to scale

(a) Calculate the value of x.
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Sticky Note

Correct answer but candidates should be encouraged to form an algebraic equation.










7.

ABCD is a quadrilateral.

C
xO
D
3x°
2x°
A B
Diagram not drawn to scale
(a) Calculate the value of x. [4]
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You must show all your workfnﬁ.

[6 +20CW]

MBCD = e 450

o Seem











(Use of area of PBCQ =) 52 — 20 (= 32 cm?)
(Areaof PBCQ =) 8xf =32

f=4

(Area of APQD =) 4 x 20
5

g:
g:

Bl
M1

Al

M1
Al

0C1

W1

Answers /working may be seen on diagram.

F.T. ‘their derived 32’ but not 52
[B1M1 implied by 8f = 32]
C.A.O. (implies BIM1A1)

F.T. ‘their .
Alternative method
fx(g+8)=52 M1
[fg + 8f = 52]
fg=20 M1
[M2 implied by 20 + 8f = 52 or 8f = 32]
f=4 Al C.AO.
4xg=20 M1 FT ‘their f.
g= 5 Al

Organisation and Communication.
For OC1, candidates will be expected to:
e present their response in a structured way
e explain to the reader what they are doing at
each step of their response
e lay out their explanation and working in a
way that is clear and logical

Accuracy of writing.
For W1, candidates will be expected to:
e show all their working
e make few, if any, errors in spelling,
punctuation and grammar
e use correct mathematical form in their
working
e use appropriate terminology, units, etc
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Sticky Note

Sufficient for both OC1 and W1.
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Sticky Note

Incorrect mathematical form W0.



Sticky Note

Explanation not given at each step
OC0.










You must show all your workfnﬁ.

[6 +20CW]

MBCD = e 450

o Seem




Sticky Note

Incorrect method. Area taken to be perimeter and APQD taken to be a square.
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9. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

In the diagram below,
e ABCD is arectangle, and
*  PQis parallel to AD.

D gcm Q 8cm C

fcm

A P B

Diagram not drawn to scale

The area of ABCD is 52cm?.
The area of APQD is 20 cm?.

Calculate the values of fand g.
You must show all your working. [5+20CW]
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only
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17. Solve the following simultaneous equations using an algebraic (nct graphical) method.
ax + 4.;: —2 §
2x-3r=16
S +L'D =27
23€ =3y 216 (H)

bomba =2 B 3X -4W=7

Ecamin
anly.
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17. Solve the following s multaneous ecuations using an algahrais (not grash cal) method. 1=l ‘ 1
t+dp= TR
2r—Ap= I5(E
T B AR S
L L ——

FoerCrd =7, peio ”
2o+ % = =











17.

Method to eliminate variable

e.g. equal coefficients with intention to
appropriately add or subtract’

First variable found x=5 or y=-2.
Substitute to find the 2™ variable.
Second variable found.

RSRNRN

M1

Al

Al

No marks for ‘trial and improvement’.
Allow 1 error in one term, not one with equal
coefficients.

C.A.O.
F.T. their ‘1% variable’.
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Sticky Note

Incorrect method as intent was to subtract rather than add.
M0A0m0A0.










17. Solve the following simultaneous equations using an algebraic (nct graphical) method. 4
ax + 4.;: —2 §
2x-3r=16
B Yo ‘f'Ha =7
2ag =3 =K (1)

Eo s la ST BRI 3X -4W=7

y: b) =24
JER

Ecamin
anly




Sticky Note

Rules of algebra not understood.
M0A0m0A0










17. Solve the following s multaneous ecuations using an algahrais (not grash cal) method.

t+dp=T0
2r—Ap= I5(E

(e R B D B g T

.y .|'|

i
T3 ;fjc/ﬁ Ay =@

o + 8 ="




Sticky Note

Correct intention to subtract. M1A0



Sticky Note

Correct follow through method.
m1



Sticky Note

Further errors on follow through. A0
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17. Solve the following simultaneous equations using an algebraic (not graphical) method. [4]

Ix+4y=17
2x-3y =16

20
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Sticky Note

Correct method and solution. Poor presentation.
M1A1m1A1.




















Solve the inequality to find the least value of .
You must show all your working. [5]
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Sticky Note

No inequality formed.
B0B3 only.










Solve the inequality to find the least value of 7.
You must show all your working.











You must show all your working.
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Sticky Note

Correct initial inequality.
B2B0B0B0










You must show all your working.
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You must show all your working.

Roshue) -

Eifion =

6.
Y.

4n-st
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g+10 =18

D=8z tY




Sticky Note

Correct inequality.
B2



Sticky Note

Correctly solved.
B1B1B1.










You must show all your working.
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19.

4n-8>n+ 17

3n>25
n > 25/3

(least value of n =)

9

S

B2

Bl

Bl

Bl

If not B2, allow B1 for sight of 4n—8 AND n + 17
in an inequality.

F.T. from ‘their inequality’, if of equivalent difficulty.
F.T. from ‘their an>b’ or ‘their an<b’ provided a#1.
F.T. from their ‘n > 25/3’, provided n > 0.

An answer of 9 without showing 4n-8>n + 17
gains B3 only. Accept ‘Rashid had 9 (sheep)'.
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19. Rashid owned n sheep.
Eifion had exactly 4 times as many sheep as Rashid.

Rashid buys 17 extra sheep.
Eifion sells 8 of his sheep.

Eifion still has more sheep than Rashid.
Form an inequality, in terms of n.

Solve the inequality to find the least value of n.
You must show all your working. [5]
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